

LJUBOMIR B. ĆIRIĆ and JEONG SHEOK UME¹

**Ishikawa iterative processes with errors
for approximations of zeros
of strongly accretive operator equations**

ABSTRACT. In this paper we consider the strong convergence of the sequence of the Ishikawa iterative process with errors to fixed points and solutions of quasi-strongly accretive and quasi-strongly pseudo-contractive operator equations in Banach spaces. Considered error terms are not necessarily summable. Our main results improve and extend the corresponding results recently obtained by Chidume [1], [2], Deng [4], [5], Deng and Ding [6], Liu [8], Xu [11] and Zhou and Jia [12].

1. Introduction. Suppose X is an arbitrary Banach space, X^* is the dual space of X and $\langle \cdot, \cdot \rangle$ is the pairing between X and X^* . The mapping $\mathring{J} : X \rightarrow 2^{X^*}$ defined by

$$\mathring{J}(x) = \{f \in X^* : \langle x, f \rangle = \|f\| \cdot \|x\|, \|f\| = \|x\|\}$$

is called the normalized duality mapping. It is known that if X is uniformly smooth (or equivalently, X^* is uniformly convex), then \mathring{J} is single-valued and uniformly continuous on any bounded subset of X .

¹The second author was supported by Korea Research Foundation Grant (KRF-2001-015-DP0025)

2000 *Mathematics Subject Classification.* 47H06, 47H10.

Key words and phrases. Fixed points, Ishikawa iterative process, quasi-strongly accretive operator, quasi-strongly pseudo-contractive operator, operator equation.

An operator $T : X \rightarrow X$ is called *strongly accretive* if for all $x, y \in D(T)$ ($D(T)$ - the domain of T) there exists $j(x - y) \in \dot{J}(x - y)$ and a constant $k > 0$ such that

$$(1) \quad \operatorname{Re} \langle Tx - Ty, j(x - y) \rangle \geq k \|x - y\|^2.$$

Without loss of generality we may assume $k \in (0, 1)$. T is called *accretive* if T satisfies (1) with $k = 0$.

We will say that an operator T is *quasi-strongly-accretive* if there exists a strictly increasing function $\phi : [0, \infty) \rightarrow [0, \infty)$ with $\phi(0) = 0$ such that for any $x, y \in D(T)$:

$$(2) \quad \operatorname{Re} \langle Tx - Ty, j(x - y) \rangle \geq \phi(\|x - y\|).$$

An operator T is said to be *strongly (quasi-strongly) pseudo-contractive* if $I - T$ (where I denotes the identity mapping) is strongly (quasi-strongly) accretive mapping.

Every strongly accretive operator is quasi-strongly accretive with $\phi : [0, \infty) \rightarrow [0, \infty)$ defined by $\phi(t) = kt^2$. The following example shows that the class of strongly accretive operators is a proper subclass of the class of quasi-strongly accretive operators.

Example. Let $X = \mathbb{R}$ (the reals with the usual norm) and let $K = [0, \infty)$. Define

$$Tx = x^3.$$

Since $x^2 + xy + y^2 \geq |x - y|^2$ on K , T is quasi-strongly accretive on K with $\phi : [0, \infty) \rightarrow [0, \infty)$ defined by

$$\phi(t) = t^4.$$

However, for any fixed $x \in (0, 1)$ and $y = 0$ we have

$$\langle Tx - Ty, j(x - y) \rangle < k|x - y|^2$$

for all $x \in K$ with $0 < x < \sqrt{k}$. Therefore, T is not strongly accretive operator.

The study of accretive operators has an important role in the existence theory for nonlinear evolution equation in Banach spaces (see for example [3]).

If $T : X \rightarrow X$ is strongly accretive and the equation $Tx = f$ has a solution, methods for approximating the solution have been studied extensively by several researchers. Many authors have applied the Mann iteration method and the Ishikawa iteration method to approximate solutions of $Tx = f$.

Recently Liu [8] introduced the following iteration method which he called *Ishikawa (Mann) iteration method with errors*.

For a nonempty subset K of X and a mapping $T : K \rightarrow X$, the sequence $\{x_n\}$ defined for arbitrary x_0 in X by

$$\begin{aligned} y_n &= (1 - \beta_n)x_n + \beta_nTx_n + v_n, \\ x_{n+1} &= (1 - \alpha_n)x_n + \alpha_nTy_n + u_n \end{aligned}$$

for all $n = 0, 1, 2, \dots$, where $\{u_n\}$ and $\{v_n\}$ are two summable sequences in X (i.e., $\sum_{n=0}^{\infty} \|u_n\| < \infty$ and $\sum_{n=0}^{\infty} \|v_n\| < \infty$), $\{\alpha_n\}$ and $\{\beta_n\}$ are two real sequences in $[0, 1]$ satisfying suitable conditions, is called the *Ishikawa iterates with errors*. If $\beta_n = 0$ and $v_n = 0$ for all n , then the sequence $\{x_n\}$ is called the *Mann iterates with errors*.

If $u_n \equiv 0$, $v_n \equiv 0$ then the Ishikawa and Mann iteration methods with errors reduce to the original Ishikawa and Mann iteration methods.

Unfortunately, the definitions of Liu, which depend on the convergence of the error terms, is against the randomness of errors.

The purpose of this paper is to define the Ishikawa iterates with errors where the error terms are not necessarily summable. We refine and improve the method of proof which have been used for strongly accretive operators, as this method is not directly applicable for quasi-strongly accretive operators. We prove the strong convergence of the Ishikawa iterates with errors to fixed points and solutions of quasi-strongly accretive and quasi-strongly pseudo-contractive operator equations. Our main results improve and extend the corresponding results recently obtained by Chidume [1], [2], Deng [4], [5], Deng and Ding [6], Liu [8], Xu [11] and Zhou and Jia [12].

2. Main results. First we state the following lemma, which we shall use in the proof of our main theorem.

Lemma 1 ([11]). *Let X be a Banach space. Then for all $x, y \in X$ and $j(x + y) \in \dot{J}(x + y)$,*

$$\|x + y\|^2 \leq \|x\|^2 + 2\operatorname{Re} \langle y, j(x + y) \rangle.$$

Our main theorem is the following.

Theorem 1. *Let X be a uniformly smooth Banach space and let $T : X \rightarrow X$ be a quasi-strongly accretive mapping, i.e.*

$$(3) \quad \operatorname{Re} \langle Tx - Ty, j(x - y) \rangle \geq \phi(\|x - y\|),$$

where $\phi : [0, +\infty) \rightarrow [0, +\infty)$ is a strictly increasing function with $\phi(0) = 0$. Suppose that there exists a solution of the equation $Tx = f$ for some $f \in X$. For $f \in X$ define $S : X \rightarrow X$ by $Sx = f + x - Tx$ for all $x \in X$, and suppose

that the range of S is bounded. Let for arbitrary $x_0 \in X$ the Ishikawa iteration sequence $\{x_n\}$ with errors be defined by

$$(4) \quad y_n = (1 - \beta_n)x_n + \beta_n Sx_n + b_nv_n,$$

$$(5) \quad x_{n+1} = (1 - \alpha_n)x_n + \alpha_n Sy_n + a_n u_n,$$

where $\{\alpha_n\}$, $\{\beta_n\}$, $\{a_n\}$ and $\{b_n\}$ are sequences in $[0, 1]$ satisfying

$$(6) \quad \lim_{n \rightarrow \infty} \alpha_n = 0, \quad \lim_{n \rightarrow \infty} \beta_n = 0,$$

$$(7) \quad \sum_{n=0}^{\infty} \alpha_n = \infty,$$

$$(8) \quad a_n \leq \alpha_n^{1+c} \quad (c > 0), \quad b_n \leq \beta_n,$$

and $\{u_n\}$ and $\{v_n\}$ are two bounded sequences in X . Then $\{x_n\}$ converges strongly to the unique solution of the equation $Tx = f$.

Proof. Let $Tq = f$, so that q is a fixed point of S . Since T is quasi-strongly accretive, it follows from definition of S that

$$(9) \quad \operatorname{Re} \langle Sx - Sy, j(x - y) \rangle \leq \|x - y\|^2 - \phi(\|x - y\|).$$

Setting $y = q$ we have

$$(10) \quad \langle Sx - q, j(x - q) \rangle \leq \|x - q\|^2 - \phi(\|x - q\|).$$

If p is a fixed point of S , then (10) with $x = p$ implies $p = q$.

We prove that $\{x_n\}$ and $\{y_n\}$ are bounded. Let

$$A = \sup \{\|Sx_n - q\| + \|Sy_n - q\| : n \geq 0\} + \|x_0 - q\|,$$

$$B = \sup \{\|u_n\| + \|v_n\| : n \geq 0\},$$

$$M = A + B.$$

From (5) and (8) we get

$$\begin{aligned} \|x_{n+1} - q\| &\leq (1 - \alpha_n)\|x_n - q\| + \alpha_n\|Sx_n - q\| + a_n\|u_n\| \\ &\leq (1 - \alpha_n)\|x_n - q\| + \alpha_n A + \alpha_n B \end{aligned}$$

and hence

$$(11) \quad \|x_{n+1} - q\| \leq (1 - \alpha_n)\|x_n - q\| + \alpha_n M.$$

From (4) and (8) we have

$$\begin{aligned} \|y_n - q\| &\leq (1 - \beta_n)\|x_n - q\| + \beta_n\|Sy_n - q\| + b_n\|v_n\| \\ &\leq (1 - \beta_n)\|x_n - q\| + \beta_n A + \beta_n B \end{aligned}$$

and hence

$$(12) \quad \|y_n - q\| \leq (1 - \beta_n)\|x_n - q\| + \beta_n M.$$

Now we show by induction that

$$(13) \quad \|x_n - q\| \leq M$$

for all $n \geq 0$. For $n = 0$ we have $\|x_0 - q\| \leq A \leq M$, by definition of A and M . Assume now that $\|x_n - q\| \leq M$ for some $n \geq 0$. Then by (11) we have

$$\|x_{n+1} - q\| \leq (1 - \alpha_n)M + \alpha_n M = M.$$

Therefore, by induction we conclude that (13) holds.

Substituting (13) into (12) we get

$$(14) \quad \|y_n - q\| \leq M.$$

From (12) we have

$$\|y_n - q\|^2 \leq (1 - \beta_n)^2 \|x_n - q\|^2 + 2\beta_n(1 - \beta_n)M\|x_n - q\| + \beta_n^2 M^2.$$

Since $1 - \beta_n \leq 1$ and $\|x_n - q\| \leq M$, we get

$$(15) \quad \|y_n - q\|^2 \leq \|x_n - q\|^2 + 2\beta_n M^2.$$

Using Lemma 1 we get

$$\begin{aligned} \|x_{n+1} - q\|^2 &= \|(1 - \alpha_n)(x_n - q) + a_n u_n + \alpha_n(Sx_n - q)\|^2 \\ &\leq \|(1 - \alpha_n)(x_n - q) + a_n u_n\|^2 + 2\alpha_n \operatorname{Re} \langle Sx_n - q, j(x_{n+1} - q) \rangle \\ &\leq (1 - \alpha_n)^2 \|x_n - q\|^2 + 2(1 - \alpha_n)a_n \|x_n - q\| \cdot \|u_n\| + a_n^2 \|u_n\|^2 \\ &\quad + 2\alpha_n \operatorname{Re} \langle Sx_n - q, j(y_n - q) \rangle \\ &\quad + 2\alpha_n \operatorname{Re} \langle Sx_n - q, j(x_{n+1} - q) - j(y_n - q) \rangle. \end{aligned}$$

Hence, using (3) and definition of M , we get

$$\begin{aligned} \|x_{n+1} - q\|^2 &\leq \|x_n - q\|^2 - 2\alpha_n \|x_n - q\|^2 + \alpha_n^2 \|x_n - q\|^2 \\ &\quad + 2(1 - \alpha_n)a_n M^2 + a_n^2 M^2 + 2\alpha_n \|y_n - q\|^2 \\ &\quad - 2\alpha_n \phi(\|y_n - q\|) + 2\alpha_n c_n, \end{aligned}$$

where

$$(16) \quad c_n = \operatorname{Re} \langle Sx_n - q, j(x_{n+1} - q) - j(y_n - q) \rangle.$$

By (13) and (15), and using that $a_n \leq \alpha_n \alpha_n^c$ and $-2\alpha_n a_n + a_n^2 \leq 0$, we obtain

$$\begin{aligned} \|x_{n+1} - q\|^2 &\leq \|x_n - q\|^2 - 2\alpha_n \|x_n - q\|^2 + \alpha_n^2 M^2 + 2\alpha_n \alpha_n^c M^2 \\ &\quad + 2\alpha_n \|x_n - q\|^2 + 4\alpha_n \beta_n M^2 - 2\alpha_n \phi(\|y_n - q\|) + 2\alpha_n c_n \end{aligned}$$

and hence

$$(17) \quad \|x_{n+1} - q\|^2 \leq \|x_n - q\|^2 - 2\alpha_n \phi(\|y_n - q\|) + \alpha_n \lambda_n,$$

where

$$\lambda_n = (\alpha_n + 2\alpha_n^c + 4\beta_n)M^2 + 2c_n.$$

First we show that $c_n \rightarrow 0$ as $n \rightarrow \infty$. Observe that from (4) and (5) we have

$$\begin{aligned} \|x_{n+1} - y_n\| &= \|(\beta_n - \alpha_n)(x_n - q) + \alpha_n(Sx_n - q) - \beta_n(Sy_n - q) + a_n u_n - b_n v_n\| \\ &\leq (\beta_n + \alpha_n)\|x_n - q\| + \alpha_n\|Sx_n - q\| + \beta_n\|Sy_n - q\| \\ &\quad + \alpha_n\|u_n\| + \beta_n\|v_n\| \end{aligned}$$

and hence, by (13) and definition of M ,

$$(18) \quad \|x_{n+1} - y_n\| \leq 2(\alpha_n + \beta_n)M.$$

Therefore,

$$\|x_{n+1} - q - (y_n - q)\| \rightarrow 0 \text{ as } n \rightarrow \infty.$$

Since $\{x_{n+1} - q\}$, $\{y_n - q\}$ and $\{Sx_n - q\}$ are bounded and j is uniformly continuous on any bounded subsets of X , we have

$$\begin{aligned} j(x_{n+1} - q) - j(y_n - q) &\rightarrow 0 \text{ as } n \rightarrow \infty, \\ c_n = \langle Sx_n - q, j(x_{n+1} - q) - j(y_n - q) \rangle &\rightarrow 0 \text{ as } n \rightarrow \infty. \end{aligned}$$

Thus

$$\lim_{n \rightarrow \infty} \lambda_n = 0.$$

Set

$$\inf \{\|y_n - q\| : n \geq 0\} = \delta \geq 0.$$

We prove that $\delta = 0$. Assume the contrary, i.e. $\delta > 0$. Then $\|y_n - q\| \geq \delta > 0$ for all $n \geq 0$. Since ϕ strictly increases and $\phi(0) = 0$,

$$\phi(\|y_n - q\|) \geq \phi(\delta) > 0.$$

Thus from (17)

$$(19) \quad \|x_{n+1} - q\|^2 \leq \|x_n - q\|^2 - \alpha_n \phi(\delta) - \alpha_n [\phi(\delta) - \lambda_n]$$

for all $n \geq 0$. Since $\lim \lambda_n = 0$, there exists a positive integer n_0 such that $\lambda_n \leq \phi(\delta)$ for all $n \geq n_0$. Therefore, from (19) we have

$$\|x_{n+1} - q\|^2 \leq \|x_n - q\|^2 - \alpha_n \phi(\delta),$$

or rewritten,

$$\alpha_n \phi(\delta) \leq \|x_n - q\|^2 - \|x_{n+1} - q\|^2$$

for all $n \geq n_0$. Hence

$$\phi(\delta) \sum_{j=n_0}^n \alpha_j = \|x_{n_0} - q\|^2 - \|x_{n+1} - q\|^2 \leq \|x_{n_0} - q\|^2,$$

which implies $\sum_{n=0}^{\infty} \alpha_n < \infty$, contradicting (7). Therefore, $\delta = 0$. From definition of δ , there exists a subsequence of $\{\|y_n - q\|\}$, which we will denote by $\{\|y_j - q\|\}$, such that

$$(20) \quad \lim_{j \rightarrow \infty} \|y_j - q\| = 0.$$

Observe that from (4) for all $n \geq 0$ we have

$$\begin{aligned} \|x_n - q\| &= \|y_n - q + \beta_n(x_n - q) - \beta_n(Sy_n - q) - b_n v_n\| \\ &\leq \|y_n - q\| + \beta_n \|x_n - q\| + \beta_n \|Sy_n - q\| + b_n \|v_n\|. \end{aligned}$$

Since $b_n \leq \beta_n$, by definition of A , B and M we get

$$(21) \quad \|x_n - q\| \leq \|y_n - q\| + 2\beta_n M$$

for all $n \geq 0$. Thus by (6), (21) and (20) we have

$$(22) \quad \lim_{j \rightarrow \infty} \|x_j - q\| = 0.$$

Let $\varepsilon > 0$ be arbitrary. Since $\lim \alpha_n = 0$, $\lim \beta_n = 0$ and $\lim \lambda_n = 0$, there exists a positive integer N_0 such that

$$\alpha_n \leq \frac{\varepsilon}{8M}, \quad \beta_n \leq \frac{\varepsilon}{8M}, \quad \lambda_n \leq \phi\left(\frac{\varepsilon}{2}\right)$$

for all $n \geq N_0$. From (22), there exists $k \geq N_0$ such that

$$(23) \quad \|x_k - q\| < \varepsilon.$$

We prove by induction that

$$(24) \quad \|x_{k+n} - q\| < \varepsilon$$

for all $n \geq 0$. For $n = 0$ we see that (24) holds by (23). Suppose that (24) holds for some $n \geq 0$ and that $\|x_{k+n+1} - q\| \geq \varepsilon$. Then by (18) we get

$$\begin{aligned} \varepsilon &\leq \|x_{k+n+1} - q\| = \|y_{k+n} - q + x_{k+n+1} - y_{k+n}\| \\ &\leq \|y_{k+n} - q\| + \|x_{k+n+1} - y_{k+n}\| \\ &\leq \|y_{k+n} - q\| + 2(\alpha_{k+n} + \beta_{k+n})M \leq \|y_{k+n} - q\| + \frac{\varepsilon}{2}. \end{aligned}$$

Hence

$$\|y_{k+n} - q\| \geq \frac{\varepsilon}{2}.$$

Since ϕ is increasing, from (17) we get

$$\begin{aligned} \varepsilon^2 &\leq \|x_{k+n+1} - q\|^2 \leq \|x_{k+n} - q\|^2 - 2\alpha_{k+n}\phi\left(\frac{\varepsilon}{2}\right) + \alpha_{k+n}\phi\left(\frac{\varepsilon}{2}\right) \\ &\leq \|x_{k+n} - q\|^2 < \varepsilon^2, \end{aligned}$$

which is a contradiction. Thus we proved (24). Since ε is arbitrary, from (24) we have

$$\lim_{n \rightarrow \infty} \|x_n - q\| = 0,$$

which completes the proof of the Theorem. \square

If T is strongly accretive (i.e. $\phi(t) = kt^2$) and demicontinuous (i.e. $x_n \xrightarrow{s} x \Rightarrow Tx_n \xrightarrow{w} Tx$), then the existence of a solution of the equation $Tx = f$ for each $f \in X$ follows from Deimling [3].

Remark 1. If in Theorem 1, $\beta_n = 0$, $b_n = 0$, then we obtain a result that deals with the Mann iterative process with errors.

Now we state the Ishikawa and Mann iterative process with errors for the quasi-strongly pseudo-contractive operators.

Theorem 2. *Let X be a uniformly smooth Banach space, let K be a non-empty bounded closed convex subset of X and $T : K \rightarrow K$ be a quasi-strongly pseudo-contractive mapping, i.e.*

$$(25) \quad \operatorname{Re} \langle Tx - Ty, j(x - y) \rangle \leq \|x - y\|^2 - \phi(\|x - y\|),$$

where $\phi : [0, \infty) \rightarrow [0, +\infty)$ is a strictly increasing function with $\phi(0) = 0$. Let q be a fixed point of T and let for $x_0 \in K$ the Ishikawa iteration sequence $\{x_n\}$ be defined by

$$\begin{aligned} y_n &= \bar{\beta}_n x_n + \beta_n T x_n + b_n v_n, \\ x_{n+1} &= \bar{\alpha}_n x_n + \alpha_n T y_n + a_n u_n, \quad n \geq 0, \end{aligned}$$

where $\{u_n\}, \{v_n\} \subset K$, $\{\alpha_n\}, \{\beta_n\}, \{a_n\}, \{b_n\}$ are sequences as in Theorem 1 and

$$\begin{aligned}\bar{\alpha}_n &= 1 - \alpha_n - a_n, \\ \bar{\beta}_n &= 1 - \beta_n - b_n.\end{aligned}$$

Then $\{x_n\}$ converges strongly to the unique fixed point of T .

Proof. Obviously $\{x_n\}$ and $\{y_n\}$ are both contained in K and, therefore, bounded. Since T is quasi-strongly pseudo-contractive, $I - T$ is quasi-strongly accretive. Further, since (25) with $y = q$ and $T = S$ becomes (10), the proof of Theorem 1 follows. \square

Remark 2. If in Theorem 2, $\beta_n = 0$, $b_n = 0$, then we obtain the corresponding result for the Mann iteration process with errors.

Remark 3. Theorem 2 extends and improves the main result of Liu [8, Theorem 1] in the following ways:

- (1) the assumption that $\{u_n\}$ and $\{v_n\}$ are two summable sequences is replaced by the assumption that $\{u_n\}$ and $\{v_n\}$ are two bounded sequences;
- (2) T need not be Lipschitz;
- (3) the assumption that T is a strongly accretive mapping is replaced by the assumption that T is quasi-strongly accretive.

If T is a strongly pseudo-contractive (i.e. $\phi(t) = kt^2$) and continuous mapping in Theorem 2, then T has a fixed point by Proposition 3 of Martin [9]. So, Theorem 2 gives an affirmative answer to the open problem (Chidume [2]) in the more general setting and generalizes Theorem 2 in [2] in several aspects.

Also, Theorem 2 improves and extends the results of Chidume [2, Theorem 4], Deng [4,5], Deng and Ding [6], Liu [8, Theorem 1], Tan and Hu [10, Theorem 4.2], Xu [11, Theorem 3.3] and Zhou and Jia [12, Theorem 2.1].

Remark 4. A mapping T with domain $D(T)$ and the range $R(T)$ in X will be called a quasi-hemicontraction if $F(T) = \{x \in D(T) : x = Tx\} \neq \emptyset$ and if for all $x \in D(T)$ and $q \in F(T)$ there exist $j(x - q) \in \dot{J}(x - q)$ and a strictly increasing function $\varphi : [0, \infty) \rightarrow [0, \infty)$ with $\varphi(0) = 0$ such that

$$(26) \quad \operatorname{Re} \langle Sx - q, j(x - q) \rangle \leq \|x - q\|^2 - \phi(\|x - q\|).$$

Since (26) is identical with (10) in the proof of Theorem 1, we have the following.

Corollary 1. Let X be as in Theorem 1 and let $T : X \rightarrow X$ be a quasi-hemicontraction. Then $F(T)$ is singleton. Suppose that $R(T)$ is bounded

and let $\{\alpha_n\}$, $\{\beta_n\}$, $\{a_n\}$, $\{b_n\}$ in $[0, 1]$ and $\{u_n\}$, $\{v_n\}$ in X be sequences as in Theorem 1. Let $\{x_n\}$ satisfy

$$\begin{aligned}y_n &= (1 - \beta_n)x_n + \beta_nTx_n + b_nv_n, \\x_{n+1} &= (1 - \alpha_n)x_n + \alpha_nTy_n + a_nu_n.\end{aligned}$$

Then the sequence $\{x_n\}$ converges strongly to the fixed point of T .

REFERENCES

- [1] Chidume, C.E., *Iterative solution of nonlinear equations with strongly accretive operators*, J. Math. Anal. Appl. **192** (1995), 502–518.
- [2] Chidume, C.E., *Approximation of fixed points of strongly pseudocontractive mappings*, Proc. Amer. Math. Soc. **120** (1994), 545–551.
- [3] Deimling, K., *Nonlinear Functional Analysis*, Springer-Verlag, New York–Berlin, 1985.
- [4] Deng, L., *On Chidume's open questions*, J. Math. Anal. Appl. **174** (1993), 441–449.
- [5] Deng, L., *An iterative process for nonlinear Lipschitzian and strongly accretive mappings in uniformly convex and uniformly smooth Banach spaces*, Acta Appl. Math. **32** (1993), 183–196.
- [6] Deng, L., X.P. Ding, *Iterative approximation of Lipschitz strictly pseudo-contractive mappings in uniformly smooth Banach spaces*, Nonlinear Anal. **24** (1995), 981–987.
- [7] Ishikawa, S., *Fixed points and iteration of a nonexpansive mapping in a Banach space*, Proc. Amer. Math. Soc. **59** (1976), 65–71.
- [8] Liu, L.S., *Ishikawa and Mann iterative process with errors for nonlinear strongly accretive mappings in Banach spaces*, J. Math. Anal. Appl., **194** (1995), 114–125.
- [9] Martin, R. H., *Differential equations on closed subsets of a Banach space*, Trans. Amer. Math. Soc. **179** (1973), 399–414.
- [10] Tan, K.K., H.K. Xu, *Iterative solutions to nonlinear equations of strongly accretive operators in Banach spaces*, J. Math. Anal. Appl. **178** (1993), 9–21.
- [11] Xu, Y., *Ishikawa and Mann iterative processes with errors for nonlinear strongly accretive operator equations*, J. Math. Anal. Appl. **224** (1998), 91–101.
- [12] Zhou, H.Y., Y.T. Jia, *Approximation of fixed points of strongly pseudo-contractive maps without Lipschitz assumption*, Proc. Amer. Math. Soc. **125** (6) (1997), 1705–1709.

Ljubomir Ćirić
Faculty of Mechanical Engineering
Aleksinačkih rudara 12-35
11080 Belgrade
Serbia and Montenegro
e-mail: lciric@mas.bg.ac.yu

Jeong Sheok Ume
Department of Applied Mathematics
Changwon National University
Changwon 641-773
Korea
e-mail: jsu@changwon.ac.kr

Received January 14, 2003